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WDF1TH 158 190 348 150
WLWDF2TH 280 321 601 251
W OW1TH 107 130 237 117
W OW2TH 517 493 1,010 440
7t BT1TH 262 294 556 246
7t BT2TH 182 171 353 144
HER/M1TH 159 168 327 164
HER2TH 237 260 497 216
HER3TH 317 326 643 237
fh R1TH 159 196 355 157
fh HR2TH 191 231 422 213
FEE1TH 221 285 506 242
FEE2TH 194 224 418 160
£ Z1TH 344 352 696 323
% F2TH 165 180 345 159
% 1¥3TH 244 254 498 204
% Z4TH 237 237 474 201
A HE1TH 631 635 1,266 562
A HEI2TH 271 278 549 222
X IL1TH 321 302 623 281
X L2TH 332 316 648 311
X IL3TH 404 430 834 372
£ E1TH 669 771 1,440 607
X E2TH 741 716 1,457 575
£ [R3TH 908 935 1,843 713
X F1TH 333 308 641 265
% F2TH 815 800 1,615 613
% %S8TH 933 961 1,894 778
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% &S5TH 61 67 128 38
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m % R 494 493 987 335
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Z & R 187 161 348 109
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e} iR 248 232 480 148
i3 i 268 265 533 164
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oo iR 79 72 151 39

¥ B1TH 121 133 254 103
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xE 31 24 55 18
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F18 62 63 125 41
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